



Nombre: _____

Fecha: _____ Puntuación: _____

$$(4 - \frac{1}{3})^2 + \frac{1}{5} \times \frac{1}{3} - 4^2 =$$

$$((\frac{1}{5})^2 - \frac{1}{2}) \times \frac{2}{3} - (\frac{1}{3} + \frac{1}{4})^2 =$$

$$(\frac{3}{4} - (\frac{3}{4})^2) \times \frac{3}{2} - (\frac{1}{4} - \frac{1}{2})^2 =$$

$$(\frac{1}{5} - (\frac{3}{5})^2) \times \frac{1}{2} - (\frac{2}{5} + \frac{1}{3})^2 =$$

$$(\frac{1}{5} + (\frac{1}{4})^2) \times \frac{1}{3} + (\frac{1}{5} - \frac{2}{5})^2 =$$

$$((\frac{3}{2})^2 + \frac{1}{2}) \times \frac{1}{4} + (\frac{1}{2} + \frac{3}{4})^2 =$$

$$(2 - \frac{3}{5})^2 - \frac{3}{5} + 4^2 + \frac{1}{5} =$$

$$(\frac{1}{2} - \frac{1}{2})^2 + \frac{1}{6}(\frac{3}{2} + (\frac{3}{4})^2) =$$

$$(\frac{3}{5} - \frac{2}{3})^2 + \frac{2}{3}(\frac{1}{2} - \frac{3}{5}) =$$

$$(2 - \frac{3}{2})^2 + \frac{2}{3} + 2^2 \times \frac{1}{3} =$$



Nombre: _____

Fecha: _____ Puntuación: _____

$$(4 - \frac{1}{3})^2 + \frac{1}{5} \times \frac{1}{3} - 4^2 = (-\frac{112}{45}) = (-2\frac{22}{45})$$

$$((\frac{1}{5})^2 - \frac{1}{2}) \times \frac{2}{3} - (\frac{1}{3} + \frac{1}{4})^2 = (-\frac{2329}{3600})$$

$$(\frac{3}{4} - (\frac{3}{4})^2) \times \frac{3}{2} - (\frac{1}{4} - \frac{1}{2})^2 = \frac{7}{32}$$

$$(\frac{1}{5} - (\frac{3}{5})^2) \times \frac{1}{2} - (\frac{2}{5} + \frac{1}{3})^2 = (-\frac{139}{225})$$

$$(\frac{1}{5} + (\frac{1}{4})^2) \times \frac{1}{3} + (\frac{1}{5} - \frac{2}{5})^2 = \frac{51}{400}$$

$$((\frac{3}{2})^2 + \frac{1}{2}) \times \frac{1}{4} + (\frac{1}{2} + \frac{3}{4})^2 = \frac{9}{4} = 2\frac{1}{4}$$

$$(2 - \frac{3}{5})^2 - \frac{3}{5} + 4^2 + \frac{1}{5} = \frac{439}{25} = 17\frac{14}{25}$$

$$(\frac{1}{2} - \frac{1}{2})^2 + \frac{1}{6}(\frac{3}{2} + (\frac{3}{4})^2) = \frac{11}{32}$$

$$(\frac{3}{5} - \frac{2}{3})^2 + \frac{2}{3}(\frac{1}{2} - \frac{3}{5}) = (-\frac{14}{225})$$

$$(2 - \frac{3}{2})^2 + \frac{2}{3} + 2^2 \times \frac{1}{3} = \frac{9}{4} = 2\frac{1}{4}$$